
6 +  + 3 =  

+  +  +  + 

3 +  +  = 10 

+  +  +  + 

 + 5 + ! =  

=  =  =  = 

 + 13 + ? = 50 

 
 
Ἀναγραμματισμός - λύση 
1   ταπείνωση 
2)  ἐλεημοσύνη 
3)  νηστεία 
4)  ἀγάπη 
5)  προσευχή 
6)  ἐγκράτεια 
7)  μακροθυμία 
8)  πραότητα 
9)  πίστη 
 
 
Πόσο καλά γνωρίζεις τά γονονότα τῆς Ἑλληνικῆς 
Ἐπαναστάσεως; 
 
 
 
 
 
 
 
 
 
  

6 + 5 + 3 = 14 

+  +  +  + 

3 + 3 + 4 = 10 

+  +  +  + 

13 + 5 + 8 = 26 

=  =  =  = 

22 + 13 + 15 = 50 

Πράξεις στό τετράγωνο-Λύση 

1. Πότε ἔγιναν; 
Ζάλογγο (1803) 
Χίος (30.3.1822) 
Νάουσα (16.4.1822) 
Κάσος (27-30.5.1824) 
Μεσολόγγι (10.4.1826) 
 

2. Ἀντιστοίχιση τοπωνυμίων-προσώπων 
1-γ, 2-ε, 3-β, 4-ζ, 5-ι, 6-θ, 7-α, 8-δ, 9-η, 10-στ 



Παιχνίδια μέ σπίρτα -ΛΥΣΕΙΣ 
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